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1, gefres.(i=12.3.....20) 0° 3¥x 90° & &
FE sino +singy+sing; +...... +sinay =20 fr

(3 #) Far em?
A. 1800

B. 900

C.0

D. 20

Tsh 9 & el HAhdA 37 300 §1 LR (X),
YfFeenel (Y) 3R Moiae (2) # T $T 37 Jerd
fFr o §, Ao & e gew 6: 50 4 &
3ot # g1 3T gl o faw X, Y, Z # wA
40%, 50% 3R 50% 3 WIcd el HTERIS &
3R FT 60% 37 UIed A ¢ IR BET A, B,
C 3R D garr ured e 71w 3% u v ar
IqH H GATT 7T g

100

80 80
70 70 0
60 60
60
2 50 50 50
& L
2
40 "
30 30
20
A 8 C D
Students

2. YiFeaha & I) BEl & ad 3w fhaa g2
A. 60
B. 65
C. 70
D. 68

Tsh G0 & el HAhdA 37 300 §1 LA (X),
YfFeher (Y) 3R WMo (2) # T F 3 vo
fhu 91w §, Hourhel & e wewh 6: 50 4 &
gt # g1 30T gl & faw X, ¥, Z # wAw

o
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40%, 50% 3R 50% 37 JTcd Fel EaTH ¢
3R FeT 60% 3ih FIed He &l IR BET A, B,
C 3R D ganrr ured fav v 3i% feu arv e
I H 2w AT g

100

80 80
80
70 70 0
60 &0
60
2 50 50 50
] "X
2
40 LA
30 30
20 H
0
A ] C 0
Students

3. B B, C 3R D & 37 ganr ured v 1w
Fol 3Rt & G FHA & AR qaeAd H
A.B, D, C
B.B, C, D
C.C, DB
D.D, B, C

4. T8 AT FEAT 2x600000y8, 24 ¥ qUT:
Reasg g aR x 203y 2081 ar (x +y)
& sgeTad A foeet 37 @ fored suree ghem?
A. 5
B. 8
C.9
D. 2

5. cosec?30°+ sin?45° + sec’60 ° + tan®30

°Hr A fAFT F T Far gem?
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6. AABC ~ADEF § 33X 3aar aR#AMT Haer: 64
Fr 3R 48 FA &1 AB & FFES FAT N,
If& DE 9 It & TR &2

A. 17.5 g

B. 16 Y

C. 12 §#r

D. 18 T

7.8 Bx + 1)+ (x —3)° + (4 —2x° + 6
Bx+ Nx=3)(x-2)=0¢% dAxfaHFA
fFad st gem?

A. -1

2| =

B. -
C. 1

D.

2| =

8. 0° < 6 < 90° & faw © = AR FT I,
S +f3cos@+sm =17y

A. 90°

B. 0°
C. 45°
D. 30°

9. 1088 arFafasd HEATHT & Had o &I o
3 A FA F A e TEIT FHOTcAS &
e 87

A. 100

B. 38

C. 544

D. 1087

Tsh 9 & el HAhdA 37 300 &1 LA (X),
YfFeaner (Y) IR doiFe (2) & T F 37h Feld
v av § Houihd & i Hewh 6: 5 4 &
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gradeup

gt # g1 30T gl & faw X, ¥, Z # wAw:
40%, 50% 3R 50% 37 GIed e HTELTF §
3R Fe 60% 3ih FIed He &l IR BET A, B,
C 3R D ganrr ured fav v 31 feu v e
Ih I AT AT g

80 80
v 70 70 70
&0
60 -
P 0 50 50
% 0
b
4 . L A
Iau 30
’ £
A B ¢ 0

10. [ ol & & FiT 3007 AL & FqH?
A. ad A
B.B 3R C
C. ad B
D. B3R D

11. AABC &7 IR&AT 24 FAT & 3R gwehr s
BC' = 9 & &1 AD, £BAC H waefymes
g SIafeh | TP Hed:hg gl Al : ID e H &
foraesh &R gem?

A. 75

B. 5 :2

C.3:2

D. 5:3

12. TS 3McHT H 96 TUF H TH a& 997 W
20% T gIfeT I &1 15% T omeT 3ifoid ey
8 39 aFqg & W 7ea W T Afgu?

A. 120 39

B. 115 9

C. 138 T

D. 140 39
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13. &1 11 SR-I% 9T AAT H Th Fooldro
& T (A) 3R TEs I (B) F 2iidr &1 s+
T 9fd 100 et R §o1a arer I FHr F&AT gl
Terss 3¢ (B) # Raprs dof gor fham oirar §
S Soodlel U 39 H H F FF 30 A F17|

108 200200
” s
) sa
aA
g 0 ni
h
X
[
1 3 < s

g #HdT A Feadol gaRT a1 ¢ HEd o
forasr €2

A. 50

B. 49

C. 45

D. 56.25

3 8 8 8 &

Run soored R strke Rate

1.0025+6.25x107°

14. 0.0025+0.05 1 oxelpd Al ad
FI

A. 1.0025
B. 1.0525
C. 1.0005
D. 1.0505

15. AR (Bx+1)® +(x-3)° + (2x4)® =
B6(3x+1)(x=3)(x—2) &, ar X foresF e grem?
A. 3
B. 1
C. 2

1
D. 3
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L 4a —b+2¢
16.2lﬁa.b.c—1.3.5%’Fﬁ—3(”+b+c)

FT AT AT HL?

A o

17. 3¢ A, B 3R C s 20, 24 31k 36 fear
T FE F QU W G g, qG I T @Y
H Fd § ol 37¢ R A QU A H e
feeT erPiar?
16
43
1

G—
B. T

1

g_
C. 1

19

20

A 8

D. 7

18. IfG @ TH =T HIoT § 3 5 sing + 12
cos@=13 fear arar &, a tan@ & AT AT
F?

A

[

ok ekt
|'~“'w|m |J|mm|U‘

—
2
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19. f&m 9T IR IF AT IM3cae AT A, B
3R C garT Shetad), Bad, A 3R 3, 2018
F ST Y IS T & T AV iz fr Shr
(1000 fr.am ) FT TEqd Fr &

12 -

10

Salesin 1000 kg

Jan-18 Feb-18 Mar-18

Months
oo 7g & TS & AT 2018 & B ¥ foshr
A e fr X @ C A fOhr &7 gefdy &1 3
3UTe AT H?
A.9:16
C.9:19

B. 10 : 19
D. 10 : 21

20. T Mo & 9RfY, &g, ofd g IR Feh
# e & fg §1 Reger g e (a) AAGAsTg
(b HHHIUT (c) FHABIVT HAGASTE (d) HHSTE
A. (a) B. (d)

C. (b) D. (c)

. AT AT RTIET0° < 9 < 90° H R

I T &7
A. cot@ B. cosec &
C. tan@ D. cos@

22, WA i{fﬁﬁl

M S

p 1\-|
_|\G—;J [ Sl ATl

A |

ol
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o0 w
e SO B I

23. @ TH A HIUT ¥, Ig e awm ¥ ok

3(cosec:9+cof:9]:5 ¥ ar € fray WR
a7

A. 45°

B. 60°

C. 0°

D. 30°

24. T FET 18,602 T TAF H & ¥ adr
STl §1 Th a&q W 31% T o1 3R qa@d a&g
W 29% I g1 B &1 W AA-aoT H FHT FIfe
I T FIT AT?
A. 7.91% gifa
C. 8.25% et

B. 8.25% gIfet
D. 7.91%

25. T ¥f3TA A & vyl UH IFIE "9
& a7 FAT afd & TY Th MR 9T ]
alsar €1 ts Jhs & aReT 38% qarT aF famar
IT HIUT T AT gaRT 10° 91T 1T § S 39
MR & & g @ @ g1 ga W fawla
f&em & @3 v THae® ganrT vyl gan aftla
o7 (3l #) &1 ATT &7 gem?

A. 5°

B. I% gd W wddeTd & wde fFufa w R
AT §

C. 10°

D. 20°
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1. Ans. A.

Here

sina, + sin@, + +++ ... ... +8ina,, = 20
Here there are total 20 values and this will

sum up 20 if all these values are equal to 1
=

sina, = 1,sina, =1, .......51na,, = 1
- Sin90° =1

Hence

20 x 90

1800

2. Ans. B.

Total Marks in theory = 60 + 50 + 70 + 80

Average marks in theory :
60+ 50+ 70+ 80 260

Z 7 =65
3. Ans. A

Aggregate marks scored by :

A = 60+70+ 50 = 180

B =50+ 50+ 30 =130

C =70+ 80 + 60 =210

D =80+ 70+ 30 =180

In ascending order :

B<D<C

4. Ans. A.

The ten digit number 2x600000y8 is exactly
divisible by 24.

The factors of 24 are = 8 x 3

Divisibility of 8 : last three digits of the
numbers must be divisible by 8

Then O0y8 must be divisible by 8

=y =4 as 048 or y = 8 as 088; are divisible
by 8

Divisibility of 3 : the sum of the digits of the
number must be divisible by 3

)y=42+x+6+0+4+8=20+x
must be divisible by 3

=>x=1
(i)y=8;2+x+6+0+8+8=24+x

must be divisible by 3

>x=0

But according to the question; x cannot be
zero.

So, (xty) =4 +1=5

5. Ans. A

The value of

cosec?30° + sin45° + sec? 60° + tan? 30°

Putting the values of trigonometric angles:
2 2

(2)%(%) +(2)2+(%)
1 1 5 53
4o +a+o=8+-="—

6. Ans. C.

We know that, AABC =~ ADEF

Then

AB _ per(ABC)

DE per(DEF)

AB 64

9 48
 64%09
48

AB =12 cm

7. Ans. A.

Here
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(Bx + 1%+ (x =373 + (4 — 2x)® + 6 (3x +
1)(x= 3)(x = 2) = 0
(Bx + 1) + (x — 3P + (4 — 2x)° - 3(3x +

@x + 1% + (x — 3)* + (4 — 2x)° = 3(3x +

We know,
a*+b3+c®=3abc
f@a+b+c)=0
Here,
Bx+1)+((x-3)+@4-2x)=0
2x +2 =0

= -1
8. Ans. A
V3cosf + sinf = 1
When 6 = 90° Then
V3 c0s(90°) + sin90° = 1
V30 +1=1
hence LHS = RHS
9. Ans. D.
Average is given by:
Xy + X9+ i T X088

1088

=X+ X, + . X g = 0
If one number is 1088 then at most 1087

=0

numbers can be negative.

10. Ans. D.

The value of practical, theory and project
respectively.

© %300=120
Theory = 15
. 2%300=100
Practical = 15
_ % %300 =80
Project = 15

ol
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In order to pass one has to score at least
40%. 50% and 50% respectively in X, Y, Z
and 60% in aggregate.

= theory : 40% of 120 = 48

Practical : 50% of 100 = 50

Project : 50% of 80 = 40

Aggregate marks = 60% of 300 = 180

Here total marks of A = 180 ... .Pass
Total marks of B = 130 ... fail
Total mark of C = 210 ... . Pass

Total marks of D = 180 but minimum marks
for project = 40

But D has scored 30 marks in project ...
Fail

B and D are fail.

11. Ans. D.

A

B C
D

We know, the in-centre divides the line AD

in the ratio -
Al _AB+ AC
ID BC

Here perimeter = 24 cm
AB + BC + CA =24
AB + AC=24-9=15

Al 15 5
ID 9 3
Ratio Al : ID=5:3
12. Ans. C.

Here selling price = Rs 96
Loss% = 20%
CP =
100X SP 100X96 9600
= = = Rs.120
100—loss%  100-20 80
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Given;
Gain% must be = 15%

For that selling price:
((100+Profit%)xCP) _ (100+15)x120

SP = 100 100
115X120
——— = Rs.138

SP = 100

13. Ans. B.

Total runs scored = 50 + 45 + 30 + 20 +
100
= 245

Average score 5

14. Ans. B.

1.0025+6.25x107°
0.0025+0.95
10025%10™ +0.0625% 10~

25%107 +9500x107
10025+ 0.0625
= 9525
- 10325
15. Ans. B.
(3r+1) +(x-3) +(2r-4) =6(3r+1) x-3)(x-2)

(3v+1)' +(x-3) +(20-4) =3(3x+1)(x-3)(2r-4)

Let a=3x+1 b=x-3 c=2x—4

We know that -

if a+b+c=0 then @ +b +¢ =3abc
Comparing this equation, we get-
a+b+c=0

3x+1+x-3+2x—-4=0

6x—-6=0

x=1

16. Ans. C.

a:b:c=1:3:5

o
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Let =k b=3k c=5k

Putting these values in the given expression;
4da —b 4+ 2¢

3a+b+c)
Ak —-3k+10k
_ 3(k+3k+5k)
11k
= 27k
11
- 27
17. Ans. A.
Let total work = LCM (20, 24, 36) = 360
360 _ 18
Efficiency of A = 20
360 _ 15
Efficiency of B = 24
360 ~10

Efficiency of C = 36
Total efficiency (A + B + C) =18 + 15 + 10
= 43

360 _ 16
Time taken = 43 43
18. Ans. D.
If asin@+bcos@=c then @ b g ¢ zre
Pythagorean triplets.
When we compare,

sin” @+ cos” &=1 (Trigonometric Identity)
With,
Ssin@+12cos@=13

5 . 12
~sinf+—cosf =1
13 13
5 2
sin@=—, cosf?:l—
Then, 13 13
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5

2

tan & =

el
—_

19. Ans. D.

Sale of B in march = 9
Sale of B in Feb = 7
Increase =9 -7 =2
Sales of C in March = 8
Sales of C in Feb = 5
Increase = 8 - 5 =3

I
L]
"

Ratio of Increase rate B : C
20. Ans. B.

We know that in the equilateral triangle,
circumference, incentre, orthocenter and the
centroid are one and the same point.

21. Ans. C.

Value of 116 jncreases continuously in the

tan0°=0

tan 30° =

-

tan4d5° =1
tan 60° = \,’g
tan 90" =2

{ﬂ: +L,+2—|I! a* + 11 -2
a \ -
{4

\"'|

a

1
g
=1.
23. Ans. B.
We know that-

ol
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cosec’@—cot’ =1

or, cosec’@=1+cot” 6
In the given equation
3{:cosec2t9 +cot* 5] =5
3{'1+ cot’ @ +cot’ H_] =3
3(1+2cot’ 8) =5
3+6cot’ =5

6cot @ =2

cot? 6 = 1
3
1
B
Therefore, 6 =060°

24. Ans. A.

Let cost price of both article is = 100
C.P; = 100, SPy = 131

C.P., = 100, SP, = 71

We will make the SP same:

CP; = 100x71, SPy = 131 x 71 = 9301
CP, = 100x131, SP, = 71 x 131 = 9301

Total CP = 7100 + 13100 = 20200

Total SP = 18602

Loss = 20200 - 18602 = 1598
1598

cot & = =cot 60°

x100="7.91%

% Loss = 20200
25. Ans. A.

-oach

Let O be the centre of circle.

If the coach stands on the circle then
10

Angle = 2 =5°
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